[cHEMICAL_NAME[STA_NAME[D_COLLECTED|RESULTS|UNITS| detect | mcL |
Trichloroethene |MW100 23-Mar-05 1 ug/L FALSE 5
Trichloroethene ' MW100 08-Sep-05 1 ug/L FALSE 5
Trichloroethene |MW100 16-Nov-05 1 ug/L FALSE 5
Trichloroethene ' MW100 18-May-06 1 ug/L FALSE 5
Trichloroethene |MW100 13-Mar-07 3 ug/L TRUE 5
Trichloroethene ' MW100 12-Sep-07 1 ug/L FALSE 5
Trichloroethene |MW100 18-Mar-08 1 ug/L FALSE 5
Trichloroethene ' MW100 08-Sep-08 1 ug/L FALSE 5
Trichloroethene |MW100 10-Mar-09 1 ug/L FALSE 5
Trichloroethene ' MW100 02-Sep-09 1.9/ug/L TRUE 5
Trichloroethene |MW100 01-Mar-10 1 ug/L FALSE 5
Trichloroethene ' MW100 17-Aug-10 1 ug/L FALSE 5
Trichloroethene ' MW100 16-May-11 1.5/ug/L TRUE 5
Trichloroethene ' MW100 09-May-12 1 ug/L FALSE 5
Trichloroethene ' MW100 09-May-13 1 ug/L FALSE 5
Trichloroethene ' MW100 14-May-14 1 ug/L FALSE 5
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[cHEMICAL_NAME[STA_NAME[D_COLLECTED|RESULTS|UNITS| detect | mcL |
Technetium-99 MW100 23-Mar-05 13.3 pCi/L FALSE 900
Technetium-99 | MW100 08-Sep-05|  13.4pCi/L | FALSE 900
Technetium-99 MW100 16-Nov-05 -5.4 pCi/L FALSE 900
Technetium-99 | MW100 18-May-06  21.3pCi/L = TRUE 900
Technetium-99 MW100 13-Mar-07 -4.05|pCi/L FALSE 900
Technetium-99 | MW100 11-Sep-07,  -3.64 pCi/L | FALSE 900
Technetium-99 MW100 18-Mar-08 10.4 pCi/L FALSE 900
Technetium-99 | MW100 08-Sep-08/  4.01pCi/L | FALSE 900
Technetium-99 | MW100 10-Mar-09 -1.4/pCi/L | FALSE 900
Technetium-99 | MW100 02-Sep-09|  10.7pCi/L | FALSE 900
Technetium-99 | MW100 01-Mar-10.  17.8 pCi/L | TRUE 900
Technetium-99 | MW100 17-Aug-10,  4.16/pCi/L | FALSE 900
Technetium-99 | MW100 16-May-11  -6.33/pCi/L = FALSE 900
Technetium-99 | MW100 09-May-12|  5.46 pCi/L | FALSE 900
Technetium-99 | MW100 09-May-13|  3.27 pCi/L | FALSE 900
Technetium-99 | MW100 14-May-14  4.75/pCi/L = FALSE 900
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